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o MIIKNSA RUXNI(2XAY)
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= 84,000
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= 13,860
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o 8H UASHEAX &&H XN¥ 36,960,000 36,960
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= 38,808
& 8,316
o 8,316
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01 X2 Hl 2,000 0 2,000

- 247 -




SA FO=XD
A AS=SXNSHAHA X

&2 HFSAEEH X (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
S NASAEE M=l Id(2E 4= . 28
Lis) 20,000& = 1002 2,000
301 g2 4= 3,000 3,000 0
09 SALAHIEA S 2,000 2,000 0
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02 HAFHAANFEE 26,500 22,000 4,500
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o NESA 2COIUOIE oHHl K&
1,059,9162 * 22 » 122 47,038
2 23,447
= 23,591
=2 S8 NFEANEE It AHA X(EX) 2,692 2,582 110
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& 1,200
= 2,800
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= 907
= 2,116
01 X2 H| 3,023 3,023 0
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= 907
= 2,116
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02 AI2tAAMAIE E =X 8,968 8,968 0
o ANEsSAIEESH XA 5,000,000& = 1JH 2 5,000
& 1,500
= 3,500
o Jlsd Asg d2EAME XA
1,984,000 * 202 3,968
= 1,984
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o ROZHANAY 92 140,000& » 12&8 1,680
02 =24l 4,300 4,300 0
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S 10,080
s 21,820
307 glz2tol & 31,900 5,000 26,900
< 10,080
s 21,820
03 BIAHMNHE2IHIEL 26,800 0 26,800
o Lo 2dE 245 XF 80,0002 * 3350 26,800
= 8,040
s 18,760

- 253 -




2N
X ZH -
L= B

el

5 - 4
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 5,100 5,000 100
o LoEXN2 T2y X
102,000& * 503/ 5,100
< 2,040
e 3,060
Lol s&dH K& 1,762,344 1,749,600 12,744
201 ¢er24| 20,304 21,600 A 1,296
01 At 22l 20,304 21,600 A 1,296
< LBk=ZHl > 0
o Lol BEA M
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04 D122 2XREES 740,200 287,600 452,600
o Lolgdiel F0X &sHl g
320,000& = 250H » 93 720,000
o NZE2HUEE SSZAX =243 iz &
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< YPt=ZHl > 0
o JtE=EXgZ 2HE A5 7Y
25,0003 * 58 ~ 103 1,250
o JHE=2XN& HE +=+=2 200,000&8 * 63 1,200
o JIE=EXg& =D U=
50,000& = 208 = 12& 1,200
o ROIABIAAE 92 99,000 * 123 1,188
02 8323l 13,560 11,700 1,860
<3S ZLAHAM > 0
o NHEFEXNIZ =23 50,000& * 12& 600
o JHESsKIIE MRS 900,000& = 12& 10,800
o JIEsXs& F3tx FA  220,0008 * 33 660
< AIEEHI KXY > 0
o JtE=2X 32 AdFEH X
500,000& = 33l 1,500
HE 2L (FU=SI) 81,397 84,069 AN2,672
el 2 60,499 64,610 24111
ol 2| 60,499 64,610 A4111
101 @124l 60,499 64,610 A4111
01 B 60,499 64,610 A4 111
< =g > 0
o ANSIRRAY
10,0033 = 28H » 18AI2H » 123 60,499
Jl=34l 20,898 19,459 1,439
Jl2&l 20,898 19,459 1,439
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AN =S
M HER2GFU(FUSK )
el =P CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 12,778 12,659 119
01 At 22l 12,778 12,659 119
< LBk=ZHl > 0
o EU 250,000& = 1804 4,500
o =SAEX 25,0003 » 80 A 2,000
o M ST 200& ~ 2,0300H 406
o teass 3.480
-2 18,0008 = 52 = 12& 1,080
- XX 10,0003 * 202 *» 123 2,400
o FOUST YREX AREE
20,0004 = 128 ~ 6& 1,440
< =gl > 0
o ZoI=X AREM(ZE) 2|
8,000& = 1€ = 119¢ 952
202 4l 2,480 2,480 0
01 SLHOIYI 2,480 2,480 0
o oSN ALEH(ZE)
20,000 = 1€ = 124 2,480
203 YR =2t 5,640 4,320 1,320
04 EASI YR 5,640 4,320 1,320
o 300 =1t
(400,000& + (5,000& * 149¥)) = 12€ 5,640
Heas (==X 1,040,989 971,869 69,120
WEHHX = 1,040,989 971,869 69,120
HEHH X = 1,040,989 971,869 69,120
701 JIEtSI HSHES 1,040,989 971,869 69,120
01 JIEtel HE &= 1,040,989 971,869 69,120
o = ZHSEIH 8&3  1,040,989,000& 1,040,989
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